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MHFIA L
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19. &x™d| A = 12.5, $MZo|(waterline length) LM = 6.120m, &$EHA SM = 9.670m2, LUX|Z
A SBKM = 0.026 m2 ¢l 2EME MM=EZ VS = 12.0 knotsoll afiEste HHoZ ofeldlle
2YMdel & NME RTM = 85.404 N 22 AZFZctL stot ITTC 1957 WHE o[ &sto] Aol &
ME RIS (kN) 2 TS, (Mol vz 4,267.7m3, ZHAIHES =He 22°C =5
mJ
Pa =9977—%, vy =095682x10° — |} )
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(1). A28l (system)E2 Holstl, A|AR S IA FIHXZ L5 L 7|ES 7S5 2.
(2). &= AMlAHOl 295 M1HA otd 2yA s HaY of Xo|HE 74| 7| s5HA 2.
21. 3855 2H of 28 He 2. (8853
(1). Saere siMd s Hdste W™A g Falolz2tn =717
(2). A&l S45t4o| MRS S 2lE2IA(Laplace) HHAIS THEES HOA|2.
22. GEe| M JHX| REE Y|s5td, 24 HEof dE A WHAIZ J[sSHA2. (ETE)
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HIS & T A= 0.0108 gmol/(L-s-(atm)?)0| Ct.
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2 EFEHA 0| 835t04 HASHAIL
=24 39 sHAMo| 750 Ect &t ZES UE = Us %E—@ SHZE JU=71? MHESH
Alstl o|E AA™SIAZ. (6H)
ga=ol RoiMof st MASHME M35k 99% AE2[F2HES TS, (48)
< Table. Critical Points of the t-Distribution >
Degrees of «
freedom v 010 0.05 0.025 001 00035 0.001 L5
1 3078 6314 12706 31.821 63.657 318.31 636.62

=

L.BB6  2.920 4.303 6.965 9.925 22.326 31.598

3 1.638 2353 3182 4.541 5.841 10.213 12.924
4 1.533 2132 2.776 3747 4.604 173 B.610
5 1476 2015 2.571 3365 4.032 5.893 6.869
i 1440 1943 2447 3143 3707 5.208 5.959
7 1415 1.895 2.365 2.99% 3.499 4785 5.408
8 1.397 1860 2,306 2,396 3.355 4501 5.041
9 1.383  1.833 2262 2.821 3.250 4.297 4.781
10 1372 1812 2.228 2764 3169 4144 4.587
11 1363 179 2.201 2718 3.106 4025 4437
12 1.356 1.782 2:179 2.681 3.055 3.930 4318
13 1.350  L771 2,160 2.650 3012 3.852 4.221
14 1.345  1.761 2,145 2624 2,977 3787 4.140
15 1341 1753 2.131 2.602 2047 3733 4.073
16 I:3 1.746 2,120 2583 2921 3686 4015
17 13333 1.740 2110 2567 2 898 3.646 3.965
18 1.330 1734 2.101 2552 2878 3610 3.922
19 1328 1.729 20093 2.539 2.861 3579 3883
20 1:325 725 2.086 2,528 2.845 3.552 3.850
21 1:323 1721 2.080 2518 2.831 3527 3819
22 13321 L7117 2074 2.508 2,819 3.505 3.792
23 1319 1.714 2,069 2.500 2,807 3485 3.767
24 L3I 1711 2064 2492 2,797 3467 3.745
25 1316 1708 2.060 2485 2787 3450 3725
26 1.315 L1706 2.056 2479 2,779 3435 3.707
27 1.314 1703 2.052 2473 291 3421 3.690
28 1313 1701 2048 2467 2.763 3408 3.674
29 L1311 1.699 245 2462 2.756 3.3% 3.659
30 1310 1697 242 2457 2.750 3.385 3646
40 1.303 1684 2.021 2423 2704 3.307 3.551
60 1.296  1.671 2.000 2.390 2.660 3232 3460
120 1.289 1658 1.980 2358 2617 3160 3373
oo 1282 1645 1.960 2326 2.576 3.000 3.291
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25. The mass my, is at rest on the rough incline with the static friction coefficient p, and the
Kinetic friction coefficient p,. The mass m, and the mass mj are connected by an inextensible

wire as shown in Fig. The friction on pulleys can be neglected.

(a) Draw the free body diagrams for each of the mass m, and the mass my.

(b) Write the translational equations of motion for each of the mass m, and the mass my.
Each force in the equation should be expressed in vector form using a coordinate system

(c) Determine the minimum value of the mass m, that makes the system move.

Assume the values of mg, g, u,, i, and 6 are known.
rod AB has an angular velocity w;, and an angular

26. At the instant shown in the figure,
acceleration «,. The ollar at C is pin connected to CD and slides freely along AB.

-

f y 'a 'j

(a) Determine the angular velocity of rod CD w, and the relative velocity of the collar v 4at this

instant. Express your answer using the body—fixed(rotating) frame of reference {—j—l% and in

terms of r,,7r,,w,, and 0.
(b) Determine the angular acceleration of rod CD «, and the relative acceleration of the collar

RaC/A at this instant. Express your answer using the body-fixed(rotating) frame of reference

i —j—k and in terms of 7,7y, w;,w,, a;,04,, and 6.
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28. Construct the equations of heave motion of surface piercing vessel. If the incident waves is

the wave excitation forces can be given in form of F(t) = Re[f;e™]
suggest the heave motion response

assumed to be harmonic,
with f, is the amplitude of heave excitation force. Then,
amplitude operator (RAO) and discuss about the effects of each terms in the equation of
motion. And suggest the values of motion RAO when w—0 and w—oc and at the resonance

frequency.
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31. g 80 E Zichks| MHEHSIAL
(1) =95, =8, 2x=MA (2) E(beam), 7| S(Column, E-7|&(Beam—-Column), (3) &%
(Effective breadth) (4) &S AMA|, SHAMEIAMA 5)HEE &5
32. 08 13 e B2ZE FxJF Aok MERE 2EFE o4y Az 54T IJF 315MPaoll
a=5200mmm b=800mm, t,=15mmolo{, Zue HZX X5 hw=315mm, tw=16mm, bf= 150mm
tf=20mmolc}. g =30 ESHAL
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(1) Mok Mzef RHIE MEE TAISHAIRL
E(bendlng moment)S ESSIAL.
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